31739 EXAMEN OPERACIONES COMBINADAS NUMEROS ENTEROS

Calcula:
1) 6-3-2+4-1-5+13-8:4-9-2:3-1=
2) 18:(-9) +(-3)(-2) +5 =
3) —5(7 +6) — 48: (—8) =
4) 15— (—40):10 + 15:(-5) -2 =
5) [-8:(-2)-6:(2—-5)]:[10:(-2) -3:(1-2)] =
6) [3(5-2)-10:2][5(1-4)-B-7)]=

7) [B:4-2:51-5)]:[-36-7)-(1-3)]=

8) [-6(2-5)+54-7][(3-8)(2-5):(1-4)]=

) 6-3.23+4. 4 -S «A3--4-92:3 - 4=

=6 -6 4+U_.S+A42 -2 N\:3 - A =
= 6-C 41 - T 443 I N\E -4 =

&3 - Ko = ]:{a’j

D 42: (-9) wCDR +5 = -2 +6+5 = -2 =[]

if

= Bwysad =B=50NTe & 4

3) -5 (A6 -2 : (-8) = -5 (43) + 6 = -654»@-.:[@

4 AS = (=4e) Ao 4 AS (-5 . 2 = AS+ 4 -6 Mc—n&)’@
sy [c2: (2 -6 (-] : [#: (-3 (4-2)] -
~[a-c:(-a]:[-5-3:(4]= [z,+ ;] : [.5.,-,3}_

= G (-2) ,:f:gj

&) [3 (5-2) - 41 2] [5(4..4) - (3..:})'] =
- [”3--3 i, 5‘] [S(»a) —(—4)] - ["l-—&] [-w.m] _
= + 4 (-,1.4> 2,:_-;,_7
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3) [(3-4 - 2.5) (4-5')} =£h3(5-?) - (4-8)j=

- [(i\&—.{o) (_"-f)] : [-3 (-2) .—(_2)] -
= [2(-4)] : fe‘-»-ra] o e B R ='\—\/.L_[

—t

2) F‘_e;('a_*o‘) + S (q-:})] [(3»—2) (a5 (A._w)]=

= :-6(~3') +SC-3')J [-5(—3) : (*3)] =

_ [A%—Ai] [AS : (_3)3 = 3 <—6’) :)/:B





